Precision Farming Profitability

Chapter 1 - Quiz

True/False:

1. True/False:
A partial budget focuses on all cost and revenue items when using new  

                              practices. 

2. True/False:
For precision farming, changes in revenue are easier to estimate than  

                                    changes in cost.  

      3.   True/False:
Soil variability makes it difficult to measure changes in revenue.

4.   True/False:
A partial budget equation is change in profit equals change in revenue  

                              minus change in costs

5. True/False:
Information is an input used in the production process just like fertilizer,   

                              seed, or fuel.

6.   True/False:
The investment of computer hardware is usually more expensive than the  

                              cost learning the skills necessary  to accurately analyze the data.

7. True/False:
There is often a choice between a low technology option, which 



requires additional time, and the high technology alternative, 



            which is quicker, but more expensive.  

8. True/False:
Crop quality improvements and yield gains are the principal in-field 

                              source of revenue increases expected from precision agriculture.  

9. True/False:
Computer analysis enables the producer to identify crop growth and yield 

                              patterns that were not previously noticed.  

Multiple Choice:

1. Opportunity costs may be determined by:

a. Potential returns to other new technologies.

b. Potential returns to other new management practices.

c. Potential returns to other enterprises, old and new.

d. All of the above

2. Which of these statements are correct:

a. The cost of data collection with precision farming should not be included in profit calculations.

b. Data analysis cost is often omitted in precision farming budgets.

c.
Economic analysis of precision farming should focus only on changes in 
input   

      quantities and costs.

d.   The costs of developing precision farming skills should always be deducted in the  

      year the costs were incurred.

2. Which of the following is not an often omitted cost?

a. Data collection

b. Data analysis

c. Skill development

d. Change in fertilizer applied

3. Straight Line Depreciation is:

a. Amount investment divided by the number of years that the machine is used.

b. Also known as the “sinking fund” method.

c. An even annual payment with the same present value as the investment.

d. Considered an opportunity cost.

4. When estimating changes in revenue,

a. The producer should only consider changes in yield

b. Quality improvements should be taken into account

c. It is important to be aware that many benefits are measurable at only the whole farm level 

d. B and C

5. Choose the correct statement:

a. The economics of precision farming are the same everywhere.

b. Profitability of precision farming has nothing to do with the variability of soils.  

c. The choice between using hired and on-farm help is a short run decision.

d. Information can be treated as a durable input, in the same category as buildings and equipment.

6. Depreciation/Opportunity Cost:A producer invests $1234 for grid soil tests on a 100-acre field. He plans to soil sample every 4 years, and the annual interest rate is 5.2%. The annual cost per acre of soil sample information would be:

a. $12.98/acre/year

b. 3.09/acre/year

c. $324.54/acre

d. $3.79/acre/year

7. Partial Budget: If profit changes by $10.00 and revenue changes by $25, the change in cost is:

a. $35.00

b. $15.00

c. -$15.00

d. -$10.00

8.   The annual cost of using a durable asset includes:

a. Opportunity cost of money invested

b. Depreciation

c. Interest rate

d. A and B

e. A and C

9. Use the following table to calculate the Annual Cost given that the field size is 40acres:

	Item
	
	Unit
	Quantity
	Value/Unit
	Amount

	Soil Sampling Labor
	Hour
	4
	$7.50 
	$30.00 

	Soil Test Lab Analysis
	Test
	15
	$9.00 
	$135.00 

	
	
	
	
	
	

	Total Cost
	
	
	
	
	$165.00 

	
	
	
	
	
	

	Opportunity Cost of Capital (12% interest)
	
	$19.80 

	Depreciation (Straight Line over 2 years)
	
	$150.00 

	
	
	
	
	
	

	Total Annual Cost for a 40 acre Field
	
	
	
	?

	Annualized Cost per acre
	
	
	?

	
	
	
	
	
	


Annualized cost per acre is equal to:

a. $5.70

b. $8.25

c. $2.99

d. $4.25

True/False:

1. F, 2. F, 3. F, 4. T, 5. T, 6. F, 7. T, 8. T, 9. T

Multiple Choice:

 1. D, 2. B, 3. D, 4. A, 5. D, 6. D, 7. D, 8. B, 9. D, 10. D

